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��� ������� ����� �� ��� �� �! ��"����"�# $� ����#� ���%$�$&$'�( ��$�� "�����)� ��"����"�# *�$��
��� ������� ����� �� ��� �$���! +�' %� �$���� ���%$�$&$'� �� )�����%$�$&$'�( )�"�')$'� �' ��� ����%#
',-%�� �') ��� �-"�$�,)� � ��� ��"����"�# ,')�� +�'�$)����$�'� ���� ��+�'� "�"���  �+,� �'
%���+�$'$+ $'���%$�$�# �� � ��,�+� � �))# �+�$.$�# $' ��� �+��' /0-$��( ���12 3�����$ �') 4,'�+�(
���56 �') ����-"�� ��.� %��' -�)� �� ,�$�$&� �$'��� -�)��� �� "���-����$&� ��� "��+���  �� ���%��
�+��' �$-,���$�'� /	��+���'( ����6�

��� 4����0"$��%����' �,���'� *40�! $� �' ������' %�,')��# +,���'� 7��$'� ���'� ��� 4���
0"$��%����' 0��"� *400�!( �') ��� -�$' �,""�$�� � �+��'$+ ���� �') ����  �� ��� ��+�$+ 
+��'� ���
40� $� ��'��'  �� $��  ��8,�'� -����+��� �))#$'� /9���''����' �� ���� ����� ��	
��� �� ���� ���
��
�	���
��� ����	��� �� ���� �� ���� ����	 ��	 ���� ��	������� �	 � ����� ���
�		 ��� 
����� ��� 	��!
	����
� �����	 �� ��� 
������ "#��� ��� $%&	���� ���'� (��	�� �� ���� )**+� ,�� �� �� ���� )*�*�� ���
��	����� ����
����
 -��� .���	 
��	������ � 	���
� .�
����	. ��� ���	� �����	� ,�� ���	��� 	����
��	
����	 � �-�!����� 	�����-!-���� ������ .���� ��� 	�������� �����	�	 �� 	����!	���� 
������	� -��
�
��	 ���� ��������� -��� ��� ��. �� 	������ ��� ���������	 ��� ��������
� �� ��	����� .���	 �� ���
����
����
 /01 ����
�� & ������� ���������
 .���� ��	 ���� �	�� -��� 	�

�		 �� 	���� 	����� ���
��	����� ���������
 	���� -���	 "$����	 �� ���� )**2� ,���. �� ���� )**+� (��	�� �� ���� )**+� ,�� ��
�� ���� )*�*�� &����� � .���  ������ ��	���	 ���� ���� �������� -��� ��� �-�!����� .����	 ���� ����
���� �� ���� ��� �� ������� �� ��� 	���� �� ����
����
 ��	�������� ��� .��� ���� 
* ����	� ��� ��������
	���
���� �� ��� ����
����
 -��� .���	 �	 ���� 	��	����� �� ��� ���� ����� ��� ��
3 ����� ���	���
��� 
������ ����	� 4�� ���	 ���	�� �� -�	 ���
��
�� �� �	�����	� � ��.���
�� .���� ���� 
���� ������
� -���� ��� � �� �������� 
������ ��� ���� �����
 ������	� �������� ��� ��� /01 ��� ��� /00��
,�� ������� �� ��� ������ �	 �	 �����-	� �� 	�
���� )� ��� ���������� �� ��� ������ �-�!����� .���� �	
���	������ ���� -��� � 	�.�!
��
�� ������. ��� �� ��	�������� 
�������� ��� �-�!����� .����	� ��
	�
���� 2� ��� ��.���
��  ��� ��	
����5����� ��� �������� 
��������	 ��� ���	������ 0�
����	 '�� ���
'�) 
�.����	 ��� .���� -��� �������
�� ��	���	� -���� 	�
���� '�2 ����	 -��� � ���
��
�� �����
�����
�� ��� .���� �� ��� /01� 4������� �� 	�
���� 
 	�.� 	�..���5�� ��.��3	 ���  �����

� ������

�� � ���.�� 	���� �� �6���3 ")**)�� ��� .����7 �8������ ��� ��� ���.�� .���	 �� � �-�!����� 	�����-!
-���� 	�	��. 9	�� 4� ��� �: -��� �� ��
3 ����� ;�- �� ��� ��-�� ����� -�	 �������� <���� ��� .����
�	  �������5�� �� ����- ��� � ���!5��� ;�- �� ��� ��-�� ����� �	 -���� 0������
�	 1 ��� 2 ����� ��
��������	 �� ��� ����� ��� ��-�� �����	� ��	��
������� ,�� u!
�.������ �	 ������� ��	� ��-���	 ���
	����� -���� ��� v!
�.������ �	 �� ��� ���� !	���� ����
���� 9������� ����� ���� �	�����	:�

/� �		�.� � 	������ ���� !	�����  ��	������
���� �����
�� ��
3 ����� 
������� =��� ���� ��!
���� ���	 �����	 ��� ��� ��	���
�.��� �� ��� 	����
� η̄1

η̄1 = −f

g

∫ Lx

x
v̄1dx, 9�:

-���� f �	 ��� 1������	 ����.����� g �	 ��� �

��������� ��  ������� Lx �	 ��� ����� -���� �� ��� 
������
��� v̄1(x) �	 ��� 	����� ���� !	���� ��
3 ����� 
������ �� ��� ����� ������ 4�� ��� ��	���
�.��� ��
��� �������
� ���-��� ��� �-� �����	� η̄2� -� ����

η̄2 = − f

g′

∫ Lx

x
v̄2dx− gη̄1

g′
, 9):

��
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����� v̄2(x) �� ��� �� !��"#$%  #���$� �$ ��� &"��� &�'�� �$% g′ = g ρ2−ρ1
ρ2

()*�2+ �� ��%# �% ���,��'
-ρ1 �$% ρ2 ��� ��� %�$������ �$ ��� ��" &�'���.�

��� ����� /"� ��� )"%�& �� ��� %�0����$�������% ���&&"� ����� �1#���"$�� 2"� ��� #00�� &�'��
��� �1#���"$� "/ )"��"$ -3�4 3�. �$% ���  "$��$#��' �1#���"$ -3 . ���

∂u1
∂t

+ u1
∂u1
∂x

+ v1
∂u1
∂y

− fv1 = −g
∂η1
∂x

-3�.

∂v1
∂t

+ u1
∂v1
∂x

+ v1
∂v1
∂y

+ fu1 = −g
∂η1
∂y

-3�.

∂η1
∂t

= − ∂

∂x
[u1h1 + u2h2]− ∂

∂y
[v1h1 + v2h2]. -3 .

����4 h1 �� ��� �"��& ��� !$��� "/ ��� #00�� &�'�� -��� )��$ ��� !$��� �� h̄1 = H1 + η̄1 − η̄24 H1

�� ��� ��� !$��� "/ ��� #00�� &�'�� �$ ��� ����$ � "/ � )��$  #���$�. �$% h2 �� ��� �"��& ��� !$���
"/ ��� &"��� &�'�� -��� )��$ ��� !$��� �� h̄2 = H2 + η̄24 H2 �� ��� ��� !$��� "/ ��� &"��� &�'�� �$
��� ����$ � "/ � )��$  #���$�.� ��� %�$���' �$���/� � ������$ ��� ��" &�'��� )�' �$����� � ���
�"��") �"0"���0�'4 ���#&��$� �$ �$ "5��"�� ��"�&�'�� ����"$ �$% �$ "$��"�� )"$"�&�'�� ����"$
(6�����4 �78�+� 	5��"�� "/ ��� �$����� ��"$ 0"�$�4 H1 = d -d �� ��� #$%���#���% �$���/� � %�0��.
�$% H2 = h(x)− d -h(x) �� ��� #$%���#���% �"��& %�0��.4 ������� �$ ��� )"$"�&�'�� ����"$4 H2 = 0

��
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��� H1 = h(x)� 	� ��� ���� ��!� " �� ��#�

∂u2
∂t

+ u2
∂u2
∂x

+ v2
∂u2
∂y

− fv2 = − ∂

∂x
[gη1 + g′η2], $%�&

∂v2
∂t

+ u2
∂v2
∂x

+ v2
∂v2
∂y

+ fu2 = − ∂

∂y
[gη1 + g′η2], $%'&

∂η2
∂t

= − ∂

∂x
[u2h2]− ∂

∂y
[v2h2]. $%(&

)� *�� ��+(� ,-��� .� �+ '��*��, �� ��� '�(/� �+�� 0��" �((� �*�� ��

η1 = η̄1 + η′1, $1�&

u1 = u′1, $1'&

v1 = v̄1 + v′1, $1(&

η2 = η̄2 + η′2, $1�&

u2 = u′2, $1�&

v2 = v̄2 + v′2. $12&

��� ����� ��!� ��*(/��,,�, � � ��� h1 = H1 + η̄1 + η′1 − (η̄2 + η′2) ��� h2 = H2 + η̄2 + η′2� 	�

�3+��*��, 1� �� 12" . *-�� 3+���*�*�, � � .� �+ '��*��,� )� ,�� (� 2� �� -�� -���, �� ��� 2� -

η′1 = η̂1(x)cos(ky − ωt), $��&

u′1 = û1(x)sin(ky − ωt), $�'&

v′1 = v̂1(x)cos(ky − ωt), $�(&

η′2 = η̂2(x)cos(ky − ωt), $��&

u′2 = û2(x)sin(ky − ωt), $��&

v′2 = v̂2(x)cos(ky − ωt), $�2&

��� � t *, �*-�" k *, ��#� �+-'� ��� ω *, ���+�� #���(*�!� 	�,� �*�� ��� �� -�� -���, *��� ���

�*��� *4�� #� ,*��, �2 �3+��*��, 5� �� 5( ��� %� �� %(" ����, �� $�2�� ,�-� ����' �& ��� 2�����*��
-�� *6 �3+��*��⎧⎪⎪⎪⎪⎪⎪⎪⎨

⎪⎪⎪⎪⎪⎪⎪⎩

v̄1k, −h̄1
d
dx − dh̄1

dx , h̄1k, (v̄2 − v̄1)k, −h̄2
d
dx − dh̄2

dx , h̄2k

g d
dx , v̄1k, −f, 0, 0, 0

gk, −f − dv̄1
dx , v̄1k, 0, 0, 0

0, 0, 0, v̄2k, −h̄2
d
dx − dh̄2

dx , h̄2k

g d
dx , 0, 0, g′ d

dx , v̄2k, −f

gk, 0, 0, g′k, −f − dv̄2
dx , v̄2k

⎫⎪⎪⎪⎪⎪⎪⎪⎬
⎪⎪⎪⎪⎪⎪⎪⎭

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

η̂1
û1
v̂1
η̂2
û2
v̂2

⎫⎪⎪⎪⎪⎪⎪⎬
⎪⎪⎪⎪⎪⎪⎭

= ω

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

η̂1
û1
v̂1
η̂2
û2
v̂2

⎫⎪⎪⎪⎪⎪⎪⎬
⎪⎪⎪⎪⎪⎪⎭

, $7&

��*(�  �. �,���, �� �*���#��+� . �'��- 2� ��� (�-.��6 2 �3+��(! ω = ωr + iωi� 8� ωi > 0" ���

,��+�*�� *, +�,��'�� �*�� �6.�����*�� � ����  ��� ωi� ���  ��� (�-.����� ωr ���� -*��, ��� .��,�

,.��� cr = ωr/k �2 ��� #� �*(*�! ��#� �*�� ��#� .� *�� P = 2π/ωr ��� ��#� ������ λ = 2π/k�

��� �����	�
	�� �
��
�� ��� 	�������� ��
 �����������

��� (�-.��6 .��,� ,.��� c = cr + ici �2 ��� +�,��'�� ,���2 ��#�,  �,+��*�� 2 �- � '*� � ! (+  ���

��� '���!-�� *( . �9��, (����� '�  �� *�#�� ����!�*(���!� ����#� " *� -��! (�,�, *� *, ,�*�� .�,,*'��

��
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�� ������ �������� �! ��"�#$ �� cr ��# ci� ��#!�$%& '�()*+ ,��-�#�$ � $�.�� �� !� ������. /�� � 0���
�����.�# �1��!�&�� � ���2 �� ���!��& 1��� ��1��#3$ /�.�"$ $�.�� �� !� ������. /�� �&#��#&��.� 
��$����!��& '��1��#2 �()�+2 ��-�� �&

(
a− b

2

)2

≥
(
cr −

(
a+ b

2

))2

+ c2i . 456

����2 a ��# b ��� ��� .�7�.". ��# .���.".  "����� $,��# 1����� ��� #�.���2 �� ������ �/ ��� �1�
!�&��$� 8��. $���#��# !����� $����!��& �����& �/ 9"�$�����$���,�� 0�1$ '��#!�$%&2 �():�; �&$�%
�� ���2 �(5�+ �  ��#����� /�� �7,�������! ���1�� 4ci > 06 �/ � �1��!�&�� $&$��. 1��� �� ����<����!
$���� 4v̄1, v̄2  ��$��6 ��# "��/��.!& $!�,��� ��,����,�&  �� �� #���-�#

v̄1 − v̄2
|v̄1 − c|2

∫ Lx

0
|Φ1|2dx− v̄1 − v̄2

|v̄2 − c|2
∫ Lx

0
|Φ2|2dx− g′α/f

|v̄2 − c|2
∫ Lx

0
|Φ2|2dx = 0, 4(6

1���� Φn 4n = 1, 26 �$ ���  �.,!�7 �.,!��"#� �� !�&�� n �/ � ���.�! .�#� "�$���!� $�!"���� �� ���
!������<�# 9"�$�����$���,�� ,�������! -���� ��& �9"������ α �$ ��� ��,����,�� �! $!�,�� 8��. ���$
 ��#����� ��  �� �� $��� ���� /�� $����� $!�,�$ 4|α| !����6 ��#=�� $����� $�����> �����2 ��� ����# ���.
1�"!# #�.����� ��� �����$2 ���#����� ��$����!��& "�!�%�!&� ��1�-��2 �/ v̄1≈c 4/�� v̄1 > v̄26 �� v̄2≈c
4/�� v̄2 > v̄162 ��� >�$� �� ��� $� ��# ���. 1�!! �� �.� !���� ��#  �"!#  �� �! ��� ����# ���.�

� �������	
 ����
�

��� !�����! ��"�#��&  ��#����� �� ��� 1�!!$ 4x = 0 ��# x = Lx6 �$ <��� ���.�! -�!� ��& �� ����
!�&��$2 ���� u′n = 0, (n = 1, 2)� 8�� ���  �$� 1��� ��� �����/� � �����$� �$ ��� ��,����,�&2 ���
� ��$$�$��!/ -�!� ��& �$ <��� �� ��� �����$� ���� ���# ,����� 
 $�������# ����#�.��$����! ���# 1�$
"$�# /�� ��� �".��� �!  �! "!�����$ 4$�� �!!"$������� �� 8��"�� �6� ��� $�������# ���# #�$ ����<�����
��-�$ ������ �  "�� & ���� �  �!!� ���# ���# ��# ��� �".��� �! ��"�#��&  ��#�����$ ���  ��$�$����
1��� ��� ���!&�� �! ��"�#��&  ��#�����$� ��� .����7 $&$��. 4�6 1�$ $�!-�# "$��� ������2 1�� �
"��!�<�$ ��� 
�,� % !�����& ��"����$ /�� �����-�!"�  �! "!�����$� ��� .�#�! $��" �"��$ �/ ��� ���!
 "����� ��# #�$,!� �.��� >�!#$ �$ ��-�� �&

u′1 = [û1,r(x)cos(ky − ωrt)− û1,i(x)sin(ky − ωrt)] exp(ωit), 4���6

v′1 = [v̂1,r(x)sin(ky − ωrt) + v̂1,i(x)cos(ky − ωrt)] exp(ωit), 4���6

η′1 = [η̂1,r(x)cos(ky − ωrt)− η̂1,i(x)sin(ky − ωrt)] exp(ωit), 4�� 6

u′2 = [û2,r(x)cos(ky − ωrt)− û2,i(x)sin(ky − ωrt)] exp(ωit), 4��#6

v′2 = [v̂2,r(x)sin(ky − ωrt) + v̂2,i(x)cos(ky − ωrt)] exp(ωit), 4���6

η′2 = [η̂2,r(x)cos(ky − ωrt)− η̂2,i(x)sin(ky − ωrt)] exp(ωit), 4��/6

1���� ûn,r, v̂n,r ��# η̂n,r ��� ��� ���!  �.,�����$ �/ ��� �����-� ��� �� ��� n3�� !�&�� ��# ûn,i, v̂n,i
��# η̂n,i ��� ��� �.������&  �.,�����$�

��
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�

η̂m1

η̂m2

x = 0

i = m

ûm1

v̂m1

ûm2

v̂m2

�

η̂m−1
1

η̂m−1
2

� �

x = a

i = ma

�

η̂ma
1

η̂ma
2

ûma+1
1

v̂ma+1
1

ûma+1
2

v̂ma+1
2

�

η̂ma+1
1

η̂ma+1
2

ûma+2
1

v̂ma+2
1

ûma+2
2

v̂ma+2
2

�

η̂31
û21

v̂21

�

η̂11

x = Lx

i = 1

û11

v̂11

�

η̂01

��������  ���!"!��#$

û11 = 0 ûm1 = 0

ûma
2 = 0 ûm2 = 0

3m− 3

⎧⎪⎨
⎪⎩
ûi1 i = 2,m− 1

v̂i1 i = 1,m

η̂i1 i = 1,m− 1

3(m−ma)− 1

⎧⎪⎨
⎪⎩
ûi2 i = ma + 1,m− 1

v̂i2 i = ma + 1,m

η̂i2 i = ma,m− 1

� #�#"�% �& [6m− 3ma − 4)]2 �'��"!��#�
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��� ���������� ��� ��!" #� �#$�% &"

h(x) =

{
ho, ��! 0 ≤ x ≤ l,

hs, ��! Lx ≥ x > l,
'��(

)��!� hs #� ��� *���� �% ��� �����+ ho #� ��� *���� #% ��� �&"���� �,��% �%* l #� ��� ���#�#�% ��
��� ������&!��- '��� #��.��!��#�% #% /#�.!� 0(� 1#�� %� &�,-�!�.%* ,.!!�%�+ ��� �����)#%� �2�!���#�%
*��,!#&#%� ��� !����#�%��#� &��)��% ω �%* k ,�% &� *�!#$�* �%��"�#,���"

(ω − f)

[
h2

(
ω
K

k
− f

)
+ h1(ω + f)

]
+

h2
h3

(
ω
K

k
− f

)
[h1(ω + f) + h2(ω − f)] = 0, '��(

)��!� h1 = hs, h2 = d �%* h3 = ho − d� K
k =

√
1 + f2

c2ok
2 (1− ω2

f2 )+ )��!� c0 = g′h1h3

h2+h3
#� ��� #%��!%��

�!�$#�" )�$� ����*� ��� %. �!#,�� �)����"�!  �*�� )�� !.% )#�� ��!� ���! $��.�� �# #��! �� ���
1��� 3�#��&�!��% 3���� '��� ��&�� �(�

������ �� ����������	
 	� ��
 ��
����
�� ��	��
 �
� ��
 ��	 ���
���

�	� ��
 �����
�
� ��	��
� �
 ����
 ��

��!� ���! 4��.�

hs �5�  
ho �6��  
l ��� - 
Lx ��� - 
d 6��  
g′ 9.81 · 10−3  7�2

f 1.42 · 10−4 �−1
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��� !���� �� �8.��#�% �� )�!� ��.%* ��!�.�� %. �!#,�� #��!��#�%+ ��! � ����,�#�% �� )�$� ��%�����

 ,� ��!#��% )#�� ��� *#���!�#�% !����#�% ��.%* )#�� ��� �)����"�!  �*�� ,�% &� ���% #% /#�.!�
9� ���  ��,� &��)��% ��� �)�  �*��� #� 8.#�� ,����+ ��� *#:�!�%,� #� &�!��" *#�,�!%�&��� /�!
���!� )�$� ��%���� '���5� - (+ ��� ��)���  �*� �����)� ��� #%��!%�� �!�$#�" )�$� ��!#�*+ )�#�� ��!
��%��! )�$� ��%���� '&�"�%* 5� - ( ��� ��)���  �*� ���!��,��� ��� #%�!�#�� ��!#�*� �% ��&�� �+
��� ,�%$�!��%,� ��8.�%,� ��! ��� �#�����  �*� ,�% &� ���% ��! *#:�!�%� �!#* �#;��� ��� �%��"�#,��
���.�#�% ��! ��#� )�$���%��� 'λ = 50 - ( )�� ω/f < ��90= �! T = 28.53 �� ��� !��.��� #%*#,���
���� ��� �!���%�  �*�� ,� �� 8.#�� ,���� �� ��� �%��"�#,�� ���.�#�% ��! !����.�#�%� Δx = 0.5 - �!
����� ��� �%��"�#,�� ���.�#�% #� *�!#$�* ��! �% #%>%#���" )#*� ����� �%* *��� �,��%+ &.� #%,!���#%�
��� )#*�� �� ��� %. �!#,�� ,��,.���#�% *� �#% #% ��� �!���%�  �*�� ��* �#���� �:�,� �% ��� ���.�#�%�

��



���� �� ���	 
� ��
�������� ��� ������������ ������

20 40 60 80 100 120 140 160 180 200
0

10

20

30

40

50

60

Wave length [km]

P
e
ri
o
d
 [
h
rs

]

Eigenmodes from two-layer model

Internal gravity wave
Inertial period T

f
= 12.47 h

Analytical disp. relation

������ �� ���������	 �
 ��
 ����
����	 �
�����	 
�� ��
 ��
��
��
�
 ���������� ���� ��������
� ���� ��
 	��
�����
�������
� ���
� �	� ��
 �	�������� ����
����	 
�����	�
��
 �	�
�	�� ������� ���
 �	� �	
����� ���
 �
�����
��
 �	�����
��

Δx ���� ω/f T �����
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% � ���&%�' (�(�� )% *��)+'&%&+ &%�,�*&'&,- &% ,�� �)�.��&�% �,'�%,&+ �/���%, 0���12 �-��� �%3
4+�),, ��!$$� 3��+�&*�3 &% 3�,�&' � 5/��&���)�,�)(�&+ �%�'-,&+�' �)3�' 6)� +�'+/'�,&)% )6 ,�� /%�,�*'�
*��)+'&%&+ �)3�� )6 � �')(� +/���%, &% � ,.)�'�-�� �-�,�� 0.&,� �,�(�.&�� /%&6)�� +/���%, &% ,�� ,.)
'�-���12 (�)7&3&%� � �/&,�*'� ,��, +��� 6)� +)�(��&�)% .&,� ,�� (����%, %/���&+�' �)3�'	 
�� '&%���
�')(� (�)8'� &� �&7�% *-

h(x) = ho − (ho − hs)x/Lx, 0� 1

.���� hs &� ,�� 3�(,� �, ,�� ��)��.��3 *)/%3��- )6 ,�� +��%%�' �%3 ho &� ,�� 3�(,� �, ,�� )9��)��

.�''	 
�� +)%�,�%, &%(/, (�����,��� .��� �&�&'�� ,) ,�)�� )6 ��-��� �%3 4+�),,2 �!$$�2 .�) /��3
7�'/�� ��'�7�%, 6)� ,�� ��� �, 63o� 0��� 
�*'�  1	 
�� +��%%�' &� &''/�,��,�3 &% :&�/�� #	

��
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�$ %&���� '��( �)� (&#*��#&+$ �����&+$ ,��,�����( -&�) �)� *��#�$� �+(�� �$( �)� �+(�� ./
0�/#� �$( 1,)+��2 �3445 &# #)+-$ 6+� �-+ (&7���$� 8����# +6 ��(�,�( ���8&�/ �$( �-+ (&7���$�
,����$� #)���# .��-��$ �)� ��/��#� �)� #&�&���&�/ .��-��$ �)� ��#���# +.��&$�( -&�) �)� *��#�$�
�+(�� �$( �)+#� +6 0�/#� �$( 1,)+��2 �3445 &# �8&(�$�2 ���)+��) �)� ��+-�) ���� &# ��$�����/ ∼ 5%
)&�)�� 6+� �)�&� �+(��� �)� �+$��*��&+(&, .�$(# +6 #��.�� �+(�# (&#*��/ ∼ 5% )&�)�� -�8� *��&+(
6+� �)� �+(�� +6 �/#� �$( 1,)+�� 0�3445 &$ %&���� '�� %+� �)� +�)�� ,�#�#2 �)� ,+���#*+$(�$,� &#
.������ 	$� *+##&.�� ���#+$ 6+� �)� (�8&��&+$ .��-��$ �)� �-+ �+(��# &# �)� 6�,� �)�� �/#� �$(
1,)+�� 0�3445 �##��� � �&�&( �&( +$ �+*2 -)&�� �)� *��#�$� �+(�� ����&$# � 6��� #��6�,�� �)� #��6�,�

(&8����$,� *�������� f2L2
x

g′d 2 -)&,) #)+��( .� #���� 6+� �)� �&�&( �&( �**�+9&���&+$ �+ .� :�#�&;�(2 &#
(�,���#&$� -&�) &$,���#&$� #����&;,��&+$� �)&# ,+��( �9*��&$ -)/ �)� ,+���#*+$(�$,� &# .����� 6+�
)&�)�� 8����# +6 g′� �)� �+-�#� #��.�� �+(� &$ �)� *��#�$� �+(�� &# �)� &$���$�� ���8&�/ -�8�2 �$(
,+���#*+$(# -��� -&�) �)� �$��/�&,�� ,��8� <%&���� '��(=� �$ %&���� ', � �)&�( *�� &$ ��+-�) ����2
-)&,) &# $+� *��#�$� &$ �)� #+���&+$ ./ �/#� �$( 1,)+�� 0�3445 ,�$ .� #��$� �� ���$# +�� �)�� �)&#
�+(� &# � ,+�.&$��&+$ +6 �)� ;�#� �$( �)� #�,+$( �+(� -)&,) &# $+� *+##&.�� -&�) �)� �+(�� ./
�/#� �$( 1,)+�� 0�3445�
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#�$#�$� �, /� !  !� -��%�� &",�$� 
$$  !� &",�% $�� /� !��  !� %�&��#��#$�� /!�#! ��2�% �� ��,�-���
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TWO-LAYER MODEL Mysak and Schott [1977]
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�� ������� ��� !"# �$�%��&  �"��%�"�' #� (&#)�%� #&  �� ���&������) �#%�* #�&+ �&�  �� (&�#��
 (%$�� ,� �% ��" �+ h(x)+ #� %�"%���& �� $' � ���� � ��($��  �&� )(&* #�& #&  �� �*%��������)
�#%�* #�& -%����.#&�  ��  ,��� �" &� (%� �)  �� ���"�+ ���  �� #��(� %� #�& #& /#�(%� 01

h(x) = a1

(
1− g1 tanh

(
x− x1
s1

))
+ a2

(
1− g2 tanh

(
x− x2
s2

))
− a2(1− g2), -��1

,��%� a1 = 621 �+ g1 = 0.7069+ x1 = 117 2�+ s1 = 7 2�+ a2 = 2350 �+ g2 = 0.3191+ x2 = 155
2� �&� s2 = 14 2�	 
�#� #�  �� ���� $� �'�� %#* )(&* #�& �� ,�� (��� $' �#���& �� ��� 3���45 �&�
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������ �� ��� ������� ��� ����� �  !!�" #$%%$� &'$!� �& ∼ 6 · 10−2 ��( &$��)��% &%��!�" %���
%�� ����� � (��! #$%%$� &'$!� *∼ 5 · 10−2+� ��� �$"� ���%', &'$!��� &�����% #�%)��� %�� %)$
&'$!�& �& ∼ 1 · 10−2� -$" %�� .�&% /!�%&#�"��� 0$�1� "�%�$�2 %�� (��&�%, ��%�"3�0� #�%)��� %�� %)$
'�,�"& ��%�"&�0%& %�� #$%%$� %$!$�"�!�,2 "�& '%��� �� �� $4&�$"� %)$�'�,�" "���$� ��( �� $�&�$"�
�$�$�'�,�" "���$�� ��� #�05�"$ �( 0 ""��% 1�'( �� #$%� '�,�"& �& �$(�''�( �& � �� &&��� 6�%2 ��7��
#,

v̄n(x) = v̄0,n exp

[
−
(
x− LB

B

)2
]
, n = 1, 2. *��+

��"�2 LB �& %�� !$&�%�$� $3 %�� 0 ""��% ����� �2 )��'� v̄0,n �& %�� ����� � 0 ""��% &!��( �� '�,�"
n ��( B �& %�� ��'3�)�(%� $3 %�� 6�%� LB ��( B �"� �&& ��( %$ #� %�� &��� �� %�� %)$ '�,�"&�

��"�� (�4�"��% 0�'0 '�%�$� ($����& )�"� 0$�&�(�"�( *&�� -�� "� 8+ 3$" %�� � ��"�0�' 0$�! %��
%�$�&� ��&� � ��0' (�& %�� 9�%2 (��! !$"%�$� $3 %�� 0�����' *x = 0 5�+ %$ %�� &��'3�#"��5 *x = 165
5�+2 ��&� �� 0$�&�&%& ��"�', $3 %�� &'$!� *3"$� %�� 3$$% $3 %�� &'$!�2 x = 65 5�2 %$ %�� &��'3�
#"��52 x = 165 5�+2 )��'� ��&� ��� &!��& %�� (��! !$"%�$�2 &'$!� ��( &��'3 *x = 0 5� %$ x = 300
5�+� ��� %�"�� 0�&�& )�"� " � )�%� %�� ��! % 7�' �& ��7�� �� ��#'� �2 3$" %�"�� (�4�"��% �"�( &�:�&
*Δx = 1, 0.5, 0.25 5�+�
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Δx = 0.5 #�,	 �% (���% � %��.�� -+  ��.�� �%& �% ��.�� �-&� )�% .�  ��%0 )-�5���& 2(�*
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+-� � �()* 4��(��7 -+ )�-  ��-&�� (%����)�(-% 	 /-� �� � 

0 �2- &( �(%)� 5��# (% ��-2�* ����  ��5
-�� 'λ = 27.5 #�0 T = 50 *0 γ = 0.11 &−1 �%& λ = 35 #�0 T = 68 *0 γ = 0.05 &−1,	 
*�  ���
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/.� � ��"�)�� $��� ��()� �+0 ���� ��� ���&)�1��� *2 )��� ��!� % �� �0 32 )!���� ��4� )��� % ��� ��2
%��%�� ��4� &���!�  %�� ���� ��� �%�� �!����&!��� ��)) �� %  %� 5������ !- �1��' �� ��� 6�78�90
�%! -!.��  %�  %� �%���� ���� ��� !-  %� �!"���� (��!�)�����))1 .�� �()� ��4� ��:���� )�  )� -!�
� �%����) "!��) ��� � �%�)- "!��)� �! �.""���;�0 ���).����  %� �%�)- ����!� "�'��  %� �!). �!�
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λ 6'"9#� 6%9#γ 6��1�−19
���� xstart 6'"9 xend 6'"9 Δx = 0.5 '"

�� <* �<* ><#3<�<<#��3�7
��� � >�� >��*#*��*>#��>77

,!� � "!���� � �%��� $v̄0,1 = 0.2 "#�0 v̄0,2 = 0.05 "#�+0  %� .&&�� ��� )!��� )�1�� "!��)
� �.� .��� ���!��� �� �� %  %� %��%�� &��' $T = 50 %+ �� ��!� % �� � ��� &)!  �� �� ,��.�� �� -!�
���� ��� �%� ��� �� !-  %� 4!� ��� 1 ��4� ��  %� .&&�� )�1�� �� )!�� �� �)!��  !  %� &!�� �!� !-  %�
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